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R3.1~128 #t

HE(HE) |B=GIER)| /FEL LI BE(HEF) BERIE) &%F

(kg) (kg) (%) (%) (ke) (kg) (FH)

/. A ) y y y y .0/ J/N X 11 [=] , , . y y . y ’
(@ R=-R D 3,857,816 2,950,380 130.8% 13.5% & 4,243,597.6 3,245,418.0 1,742,364

/R g Yl , s s , A% 4% X 1.015 , , . X X i , ,
[E#E I E) 8,111,902 5,550,735 146.1% 28.4% & 8,111,902.0 5,550,735.0 2,948,797
[ £ 00 # ] 2,748,906 2,226,276 123.5% 9.6%| x44f5|  12,095,186.4 9,795,614.4 1,630,580
[ 07 & # ] 2,850,954 2,307,395 123.6% 10.0%| x 2.2 6,272,098.8 5,076,269.0 1,637,883

[ 9% 3%| X 8.615 . i

[ BF B8 # ] 9,238,619 9,438,190 97.9% 32.3% f&|  79,452,123.4| 81,168,434.0 7,491,296

/B g Y s On 2% X 1.215 , . i ,
@ E-RIR=D 67,264 0 0.0% 0.2% 1= 80,716.8 0.0 9,499
[ % 4 0 ] 1,683,274 745,451 225.8% 5.9%| x 1.01% 1,683,274.0 745,451.0 720,040
st 28,558,735 23,218,427 123.0% 100.0% 111,938,899.0| 105,581,921.4| 16,180,459

R4. 1~58 &t
HE(HE) |H=GEIERY)| FEL 17 BRE(LEF) HE (RTEE) £E(HF)

(kg) (kg) (%) (%) (kg) (kg) (FH)
[FE#200) 1,435,933 1,339,235 107.2% 13.5%| x 1.1 1,579,526.3 1,473,158.5 749,928
[ E45 D E ) 2,837,592 3,090,255 91.8% 26.8%| x 1.0 28375920 3,090,255.0 1,232,593
[ £ 09 # ] 1,176,444 930,015 126.5% 11.1%)| x 4.415 5,176,353.6 4,092,066.0 955,209
[ O %= # ) 1,046,282 1,007,691 103.8% 9.9%| x 2.2 2,301,820.4 2,216,920.2 753,146
[ IR B # ] 3,773,172 3,717,431 101.5% 35.6%| x8.6%%5| 32,449,279.2| 31,969,906.6 4,073,152
EHEmAE] 22,400 0 0.0% 0.2%| x 1.2 26,880.0 0.0 3,235

[ , : :
[ %% 4 0 ] 308,322 357,247 86.3% 2.9%| x 1.01% 308,322.0 357,247.0 260,063
et 10,600,145 10,441,874 101.5% 100.0% 44,679,7735| 43,199,553.3 8,027,326
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